
 
Area and Arc Length of a Sector 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
𝒔 = 𝒓𝜽 

 
𝑨 = 𝟏

𝟐
𝒓𝜽𝟐 or 𝑨 = 𝜽𝝄

𝟑𝟔𝟎
𝝅𝒓𝟐 

 



Determine arc length 𝒔	and the area for the following sectors. 
Approximate your answers to the nearest tenths. 
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Determine the radius 𝒓	and the area for the following sectors. 
Approximate your answers to the nearest tenths. 
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Determine the central angle 𝜽 and the area for the following sectors. 
Approximate your answers to the nearest tenths. 
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